
	National 5 Homework Exercise 16
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	Trig Graphs and Equations
	

	

	Issued by:
	

	Return by:
	

	

	Working MUST be shown in every answer

	

	Questions 1 to 4 should be attempted WITHOUT a calculator

	

	1.
	Say whether the following are positive or negative:
	Sin
	All

	
	
	
	

	
	a)
	cos300
	b)
	sin200
	c)
	tan150
	d)
	cos260
	Tan
	Cos

	
	
	
	
	
	
	
	
	
	
	

	
	e)
	tan195
	f)
	sin91
	g)
	cos279
	h)
	sin400 (careful!)
	

	
	
	

	
	

	2.
	For each of the following, 
	(i)
	State the amplitude of the graph

	
	
	
	

	
	
	(ii)
	write down the maximum and minimum values of y

	
	
	
	

	
	
	(iii)
	write down the period of the graph

	
	

	
	a)
	y = 3sinx  – 2 
	b)
	y = cos3x  + 4
	c)
	y = -2sin(½x ) 

	
	

	
	

	3.
	Find the equation of each graph below.

	
	

	
	a)
	[image: ]
	b)
	[image: ]

	
	c)
	[image: ]
	d)
	[image: ]

	
	e)
	[image: ]
	f)
	[image: ]150°


	
	

	Turn over for Questions 4, 5 and 6



	4.
	Solve the following equations, rounding your answers to 1 d.p. where required: 

	
	

	
	a)
	sinx  = 0.75  		{0  x  360}
	b)
	4cosx  – 1 = 0		{0  x  360}

	
	
	
	
	

	
	c)
	2sinx  + 1 = 0	{0  x  360}
	d)
	5 + 3tanx   = 1		{0  x  360}

	
	

	
	

	5.
	The diagram shows part of the graph of 
y = 4cosx  – 3
	[image: ]

	
	
	

	
	The line y = – 4 cuts the graph at points A and B.
	

	
	
	

	
	Find the x - coordinates of A and B.
	

	
	
	

	
	HINT: make y  = y then solve.
	

	
	
	

	
	
	

	
	

	
	

	6.
	Show that 	 cos2P tan2P = 1 – cos2P

	
	

	
	




	
	Award 1 Mark for each ●

	
	

	1.
	a)
	● pos
	b)
	● neg
	c)
	● neg
	d)
	● neg
	e)
	● pos
	f)
	● neg
	g)
	● pos
	h)
	● pos

	
	
	
	
	
	
	
	
	
	

	2.
	a)
	(i)
	● 3
	b)
	(i)
	● 1
	c)
	(i)
	● 2

	
	
	(ii)
	● 1, -5
	
	(ii)
	● 5, -3
	
	(ii)
	● 2, -2

	
	
	(iii)
	● 360°
	
	(iii)
	● 120°
	
	(iii)
	● 720°

	
	
	
	
	
	
	
	
	
	

	3.
	a)
	● sine
	b)
	● cosine
	c)
	● sine

	
	
	● y = 4 sin x
	
	● cos 3x
	
	● sin 2x

	
	
	
	
	● y = 4 cos 3x
	
	● 5 sin 2x

	
	
	
	
	
	
	● y = 5 sin 2x + 5

	
	
	
	
	
	
	

	
	d)
	● cosine
	e)
	● sine
	f)
	● y = sin (x + 30)

	
	
	● cos 2x
	
	● sin 2x
	
	OR

	
	
	● 3 cos 2x
	
	● –3 sin 2x
	
	   y = cos (x – 60)

	
	
	● y = 3 cos 2x - 1
	
	● y = –3 sin 2x – 1
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	4.
	a)
	● x = sin-1(0.75)
	b)
	● cos x = ¼ 
	c)
	● sin x = -½  
	d)
	● tan x = -¾ 

	
	
	● 48.6°
	
	● x = cos-1(¼)
	
	● x = sin-1(-½)
	
	● x = tan-1(-¾)

	
	
	● 131.4°
	
	● 75.5°
	
	● 210°
	
	● 143.1°

	
	
	
	
	● 284.5°
	
	● 330°
	
	● 323.1°

	
	
	
	
	
	
	
	
	

	5.
	● 4 cosx – 3 = - 4

	
	● cos x = - ¼

	
	● x = cos-1(-¼)

	
	● 104.5°

	
	● 284.5°

	
	

	6.
	● cos2P(sin2P/cos2P)

	
	● sin2P

	
	[bookmark: _GoBack]● 1 – cos2P

	
	

	
	TOTAL = 60 MARKS
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